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Explanation of Annotations for These Solutions

The problem is in black Futura Std type.
The solution is in red Garamond Premier Pro type.

Any commentary is in blue Futura Std type.

Please Note: When solving these types of problcms fora quiz or an exam, you are expcctcd o
format your own solutions in a similar manner as [ have done on these slides. Failure to do so

may result in a small penalty for not following Instructions or even a larger pcnalty because [ do

not understand your solution.



Part | Solutions

I,

The seniors love logic.

Simple positive.
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2. Fither the seniors or the juniors love logic.

Compound disjunctivc, where
First disjunct s simple positive, and

Second disjunct is simplc: positive.
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3. The seniors do not take boring classes.

Simple negative.
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4. T the sophomores love logic, then the seniors are confused.

Compound hypothctical, where
The antecedent is simple positive, and

The consequent 1S simplc: positivc.
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5. The juniors do not like illogical things and the seniors love to expose illogical thinking in
their professors.

Compound conjunctive, where
The first CONJUNCE is simplc negative, and

The second conjunct 1S simplc positivc.
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I,

The seniors will confuse the sophomores, unless the sophomores are clever.

Compound disj unctive, where

The first disjunct is simple positive, and

The second disjunct 1S simplc: positivc.

Comment: Recall that “unless” usual

claim

s simply that at least one of t

poth disjuncts are true).

v indicates disjunction. Also in th

nese is frue (so it is not denying

s statement, tr

ne possibility t

gle]]
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2. I both the seniors and the juniors sleep through logic, then the protessor will not talk

quietly.

Compound hypothotical, where

The antecedent is compound conjunctive, where

The first CONjUNCE is simplo positive, and
The second conjunct 1S simplo positivo; and

The consequent is simplo negative.
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3. i either the seniors get good paying jobs or the juniors find the best internships, then the

tirskyear students sink info depression while the sophomores are jealous.

Compound hypothetical, where

The antecedent is Compound disjunctive, where
The first disjunct is simple positive, and
The second disjunct is simple positive; and

The consequent is compound conjunctive, where

The first conjunct is simple positive, and

The second conjunct is simple positive.

Comment: “While” indicates conjunction as it asserts something about both freshman and sophomores.
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4

Stuay logic every night and you will get a good grade.

Compound hypothc:tical, where
The antecedent is simple positive, and

The consequent is simplc positive.

Comment: Did this one fool youe Sometimes “and” can denote a hypothetical. Here
the only way fo prove this stafement wrong is to make the antecedent frue (oy studying
every night) and then showing the consequent is talse [you do not get a good grade). |
also strongly encourage you fo try proving this hypothetical wrong.




Next Class. . .

We will ﬁnally start to look at arguments by learning about the “glucn that binds statements

togethc:r in an argument: inferences!



